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BACHELOR OF SCIENCE (GENERAL) 
(BSCG) 

Term-End Examination 
December, 2022 

BZYCT-135 : PHYSIOLOGY AND BIOCHEMISTRY 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) Question No. 1 is compulsory. 

 (ii) Attempt any four questions from 

Question Nos. 2 to 7.  

1. (a) Fill in the blanks with suitable words : 

1×5=5 

(i) Carbohydrates are digested by 
salivary and pancreatic ...................... . 

(ii) Bohr’s effect facilitates transfer of 

...................... to the tissues because of 

increased 2CO  level in blood.  
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(iii) The ...................... is ensheathed by 
myelin sheath in myelinated axons.   

(iv) Organic compounds permanently 
bound to apoenzyme by covalent bonds 
are called as ...................... . 

(v) Acetyl CoA synthetase is present in 
...................... membrane of 
mitochondrion. 

(b) Match the following : 1×5=5 

Column A Column B 

(i) Water soluble 
vitamin 

(1) Catalase 

(ii) Monosaccharide (2) Vitamin C 

(iii) Scavenging 
reaction 

(3) Fructose 

(iv) RBCs (4) Small intestine 

(v) Villi (5) Haemoglobin 

2. Write short notes on the following : 2×5=10 

(i) Regulation of respiration in humans 
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(ii) Hormones synthesised by anterior 

pituitary glands  

3. Write differences between the following pairs : 

21
2
×4=10 

(i) Blood and Lymph  

(ii) Ammonotelic and Ureotelic organisms  

(iii) Epinephrine and Norepinephrine 

(iv) ‘A’ band and ‘I’ band of myofibril 

4. (i) Explain oogenesis in human females. 5 

(ii) Which hormones are secreted by human 

testes ? What are their functions ? 5 

5. (i) How many molecules of 2CO ,  NADH and 

2FADH  are produced in one citric acid 

cycle ?  3 

(ii) Describe Urea cycle. 7 

6. (i) Discuss the effects of temperature and pH 

on the rate of enzyme action. 5 
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(ii) Describe the proteins in terms of level of 

organisation in primary, secondary and 

tertiary structure.  5 

7. (i) Explain, how is fatty acid synthesis 
regulated. 5 

(ii) What is Electron Transport Chain (ETC) ? 

Explain ETC-I with the help of schematic 
diagram only.  5 

 

 

 

 

 

 

 

 

 

 

  



 [ 5 ] BZYCT-135 

  P. T. O. 

      BZYCT-135 

foKku Lukrd (lkekU;)  

(ch- ,l-&lh- th-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch- tsM- okbZ- lh- Vh--135 % 'kjhjfØ;kfoKku vkSj 

tSojlk;u 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % (i) iz'u ua- 1 vfuok;Z gSA 

 (ii) iz'u la[;k 2 ls 7 rd fdUgha p kj iz'uksa ds 

mÙkj nhft,A 

1- (d)  mi;qDr 'kCnksa dh lgk;rk ls fjDr LFkkuksa dh 

iwfrZ dhft, % 1×5=5 

 (i)  dkcksZgkbM ªsV dk ikpu ykjh; vkSj 

vXU;k'k;h 
---------------------

 }kjk gksrk gSA 
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 (ii)  cksg~j dk izHkko jDr esa c<+s gq, 2CO  

Lrj ds dkj.k 
---------------------

 (iii) ekbfyu vko`r v{krarqvksa esa 

 ds varj.k dks 

Årdksa esa lqxehÑr djrk gSA  
---------------------

 (iv) dkcZfud ;kSfxd tks LFkk;h :i ls 

,iks,atkbeksa ls lgla;kstd vkca/ ls c¡/s 

gksrs gSa] 

 

ekbfyu vkPNn ls vko`r gksrh gSA  

---------------------

 (v)  ,slhfVy CoA flaFkst+ ekbVksdkWfUMª;k dh  

 dgykrs gSaA  

---------------------

([k)  fuEufyf[kr dk feyku dhft, % 1×5=5 

 f>Yyh esa ik;k tkrk gSA  

dkWye A    dkWye B 

(i) ty esa ?kqyu'khy 

foVkfeu 

(1) dSVkyst+ 

(ii) eksukslSdsjkbM (2) foVkfeu lh 

(iii) viektZu vfHkfØ;k (3) ÚDVkst 

(iv) yky jDr dksf'kdk,¡ (4) NksVh vk¡r 

(v) foykbZ (5) gheksXyksfcu 
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2- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 2×5=10 

(i) euq";ksa eas 'olu dk fu;eu 

(ii) vxz ih;w"k xzafFk;ksa }kjk la'ysf"kr gkWeksZu 

3- fuEufyf[kr inksa ds ;qXeksa esa varj fyf[k, %  

21
2
×4=10 

(i) jDr vkSj ylhdk 

(ii) veksfu;k&mRlxhZ vkSj ;wfj;k&mRlxhZ tho 

(iii) ,fiusfÚu vkSj ukWj,fiusfÚu 

(iv) ek;ksÚkbfczy dk ‘A’ vkSj ‘I’ cSUM 

4- (i) ekuo eknk esa vaMtuu dk o.kZu dhft,A 5 

(ii) ekuo o`"k.kksa ls dkSu&ls gkWeksZu lzkfor gksrs gSa \ 

muds dk;Z fyf[k,A 5 

5- (i) ,d flfVªd vEy pØ esa 2CO , NADH  vkSj 

2FADH  ds fdrus v.kq curs gSa \  3 

(ii) ;wfj;k pØ dk fooj.k nhft,A 7 
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6- (i) rkieku vkSj pH ds ,atkbe fØ;k nj ij izHkkokas 

dk o.kZu dhft,A 5 

(ii) izkFkfed] f}rh;d vkSj r`rh;d Lrjksa ds vk/kj 

ij izksVhuksa ds la?kVu dk fooj.k nhft,A 5 

7- (i) olh; vEy la'ys"k.k fdl izdkj fu;af=kr gksrk 

gS] o.kZu dhft,A 5 

(ii) bysDVªkWu ifjogu  Ük`a[kyk (ETC) D;k gksrh gS \ 

ETC-I dk dsoy vkjs[kh; js[kkfp=k }kjk o.kZu 

dhft,A  5 
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